BbICOKOBOJIBTHBIH TPHOJ,
High-voltage triode

6C20C

BricokoBoabTHBIA Tpuon 6C20C mpennasnauex
4ns paGoTel B KadecTBe CcTabuau3aTopa Haups-
JKeHMs] NHTaHHUs aHOJa KHHECKONa B TeJeBH3HOH-
HBIX YCTpOHCTBaX.

BricokoosbTHEIe Tpuoasl 6C20C BuimycKaioTcst
B CTEeKJIHHOM O(OpPMJEHWH, C OKTAJbHBIM I[OKO-
JeM, ¢ OKCHIHBIM KaTOAOM KOCBEHHOrO HakKaJja.

BricokoposibTHEie TpHOAH 6C20C ycTofiuuBH K
BO3ENICTBHIO OKDyxKalolHell TeMmiepaTypm ot —60
o +70°C u orHOCHTEJBHOH BJAaxkHOCcTH 95—989Y
npu temneparype +40°C, a Takke K BO3AeHCTBHIO
MeXaHHUYeCKHX Harpysok: BHOpalHOHHHIX Ao 2,5 g,
yAapHBIX MHOTOKDATHHIX 0 12 g.

Hau6oapmuit Bec 80 e.

I'apanrupoBanHass poaroseunoctb 750 uwacos.

The 6C20C high-voltage triode is used in tele-
vision equipment as a stabilizer of the kinescope
anode supply voltage.

The 6C20C high-voltage triodes are enclosed in
glass bulb and are provided with an octal base
and an indirectly heated oxide-coated cathode.

The 6C20C high-voltage triodes are resistant
to ambient temperature from —60 to +70°C and
relative humidity of 95 to 98% at +40°C, as well
as to mechanical loads: vibration loads up to
2.5 g and multiple impactloads up fo 12 g.

Maximum weight: 80 gr.
Service life guarantee: 750 hr.

INEKTPUYECKHE JAHHBIE
ELECTRICAL CHARACTERISTICS
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ME)XOY3JEKTPOOHBIE EMKOCTH
INTERELECTRODE CAPACITANCES
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NPEAEJNIbBHO HONYCTHUMBIE 3KCNJYATAUUOHHBIE JAHHBIE
MAXIMUM AND MINIMUM PERMISSIBLE RATINGS

Max
h 69V
25 kV
40 kV
e —250V
P 25 W

a

Min
57V

Max
L 1,5 mA
Upy —~225 V
R, 05 MQ
Téa.zmoua 200° G
bulb

1) Ilpy BK/IOUEHHHM Ha XOJOJHYIO JaMIy.
When switching in with the cold tube.
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